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LHEM 1STRY

l 1. ﬁﬁqmmﬂmmarfﬁ%%w: 1x2=2

the | .correct i | answex from the

() qﬁa-ﬁﬁ@%@wqa{m@m’a

The basic unit present in pyrosilicates is

() Si,07
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(2) | (3)

(i) Si03- (c) b1 ReTeiRs WFRTS SrERd e efte
e o |
(i) SinS-
. Write the reactions taking place during
(iv) S8o=g qBre = . roasting of a sulphide ore.

None of the above

(d) SEARADTZE O T TS0 T 41 |

) =W cwig W SRy w7l RERe Explain the refining process of
I R 9 semiconductors.
carllni)ig} ¢tal oxide cannot be reduced by
() F 3. o[ R @ o eeE Ted i 3x2=6
¥ i ‘ Answer any two questions from the
(@) Cr203 | following :
(i) Pbo

(a) TRITV (ByHg)® @ (Bc—2e) TAHT 515+
) zno ' T |

Explain the formation of (3c -2e) bond in

2. T AR o A diborane (B;Hg).

=8
x4
An
SWer the following QR s (b) T AR (AT 2FS FRA12 1%x2=3
(@) XeR, 7 s B How will you obtain the following?
Explaj :
Xplain the structure of XeF, . e Rt
(b) Potassium dichromate
m’i?@ﬂa BT TS~ W 1 A :
Zfﬁ‘t l LVt V=2 (i) <% fRm SfeRTEs
Ve one method of Brebar oyt and ane Ammonium molybdate

use of hydroxylamine.
24P/1147
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| (5)

(4)
| SECTION—II
- ) | ical
(9 &% (closo)-, faw’(nido)- == WHARA ((Eayaital)
(arachno)-3*@e@™ 9 oroReE  oI® j ( Marks : 20)
Ty =34 ;
Wi 11 5. ooe RIERT W& Teacol 1M Sfere 1x2=2
What are closo-, nido- and arachno- i: Choose the correct answer from the
boranes? Give one example of each. ‘ following :
(a) ST IWCOR I AH; 0 T2 2
4. TR (C60)3 <1 o o AH; is non-zero for
nlk RO () O™/ (@
Give one meth (ij) C (cI¥25)/ (graphite)
and uses of fullereqs Sor Tl (ii) NO(c®)/(g)
(iv) Bry (93°)/ (1)
S%{1/ Or « i A
RPR | (p) =H =R & TF, a=108A,
%ﬁ?%‘mﬁ b=947 A, c=52 A% a=41°, §=83°,
I{E 2 TS 31 2 e

-93° T ?
1Va+1va+174 Vs SESR
What are silicone

s?
Prepared? What i o How can they be

The crystal system for which a=10-8 A,
iliCOn rubber?

b=947 A, c=52A and 0. = 41°, B = 83°,
y=93° is

(i) G’ / tetragonal

(i) I @HF / monoclinic

(iii) SLT’FS / orthorhombic

(iv) GREFS / triclinic

24P/1147 : ( Turn Over)
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(6 ) (7)

. 2x2=4 | The density of KBr is 2:75 gcm 2. The
2 _“: W ve fiar l length of the cubic unit cell is 654 pm.
Answer the following questions : ‘ Sh_ow that .KBr has FCC structuriel.
mﬂ (Given, atomic mass of K =39 g mol
(@) 25°. T¥ers 2 Y& W R AT e | . and Br= 80 g mol™})
HF WeAmed 10 BitR SEE '
20 fibRte T e R @ T (b) @ fe’T e forn | e Wfeq SRS
AR a1 01 1 (R R, log2 = 0-301) | s Rfen o @t srem 1 =92
Calculate the amount of work done ' Define the term _‘bond energy’. How
when 2 moles of an ideal gas expand 3 would you determine the enthalpy of
isothermally and reversibly from @ ! a reaction from bond energy?
volume of 10 litres to 20 litres at 25 °C. i
(Given, log2 = 0-301) (c) wref (1R GOR FHOIN SFRPIR I (a1
(b) TR “HHF SR A FEAR oI Bforear @, RV = PV].

o1 =wfoe e =T T ¢

Calculate the Miller indices of the
following crystal planes which cut
through the crystal axes :

(i) (2a 3b, c)

For adiabatic expansion of an ideal gas,
show that RV = P,V}.

8. & R (I Yot 2 Ted fay 4x2=8
(i) (2a, —3b, —3c) Answer any two questions from the
following :
7. @ R @I Pl PR Teq fyyp 3uo2ch
Answer any tWo questiong o (@) T¥OR R e [feas G e
following : ARG T, OF (SR RAveq R348
Sffoo= 41 | SN AT
(@) KBr "% 19 5 o T R | S EXIE TS 9 | 1
WP IFF (PRY O 0+0=4

654 pm.
@ KBri W rafie e el

= (i

Derive the Kirchhoff’s equation depicting
wCR, ARAIEE ST, K =30 sy xtei-l

the variation of enthalpy of reaction with

e e temperature. Deduce the i
: : : € integrated form
Br=80 aM ¥’7 ") of this equation.
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8
(8) (9 )

(B) T @ qfEEE e 9|

;Zw S T e SECTION—III
- @ 2=40.
Eﬁ ‘ﬂW qT W | 2+ ( organic )
Derive an e 5
Xpression for the Joule- ! "
gh;ilr'fllSDrl coefficient. Show that at ‘ S
fdinary temperature and s
pressure, ‘
the Joule-Thomson coefficient for real : 9. oS fHlcaT % eIhl > Sfefsa : e
gases has g Positive valuye. | Choose the correct answer from the
following : ‘
PR (a) T Rigm siele =7
i S et & I Qe 2 Hoeo Wurtz reaction takes place between
TN B Fe Ry sfare 3+1=4
5 (i) GEe (TR &
e ‘jtc‘:: Schottky and Frenkel defects? alkyl halides
i ! You detect the f defect i
inderyatal prockuiidelects (i) A AT S
aryl halides
(ifi) T ERE AE GI12E (FEARA &
alkyl halide and aryl halide
(iv) SR SIBRER0!
All of the above
(b) AT TG’ TofFe A
Acidic hydrogen is present in
[/ RERIES]
24P/1147 ( Coﬁﬁnued) ethyne

24P/1147 3 ( Turn Over )



11.

( 10 )

(b) =%y
il %@m Hlfee R <47 1
ain the acidity of termingy alkyn
E€Ss.

() E, w% g
2 R @ope
Write  shory B Bt ey |
reactions,

Answer any four ; 3x4=12

following : Sl

(@) IR-2C RiEw {2 Soge ¢
CT

What is Corey-House reaction o ‘1+2=3

with suitable example. Tite

24P/1147 (Conigd
Ed‘

(11 )

(b) TREFFS ACE TEY TN TF CRARST
Tofefde HBrid 40K Olce @[l R[Rigas
FRRfET I 40 1+2=3

State Markovnikov’s rule and explain the
mechanism of addition of HBr to
propene in the presence of peroxide.

() TRGI@o-uRe Ry IrRiE amm 41 3

Illustrate the mechanism of hydro-
boration-odixation reaction.

(@ & el 2’9, @fem—
What happens, when—

(i) 1,3-RebreRag ¢ce HBr R R,
1,3-butadiene is treated with HBr;

(i) HgSO,3 TofEfde &l H,S0,3 Oite
o’sfize ffemn SfRe;
propyne is treated with aq. H,SO, in
the presence of HgSO,;
i
(i)iR=C_o~cHlcyy V- FSE
1x3=3
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(12 )

:11/9X2=3
(&) o R @ gom eotrw vy Gt B

the
o of
Write short notes on any w
following .

) DETE SRS
Saytzeff rule

(%) oS Ry

Chugaey reaction

(i) TR 7wy By

Hofmanp elimination reaction

ok A
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